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QUESTION 1

An administrator needs to configure a network that consists of three tiers. 

How can the administrator achieve routing between all of the segments using NSX-T? 

A. With bridging 

B. With firewall rules 

C. With segments 

D. With gateways 

Correct Answer: C 

 

 

QUESTION 2

Which three VMware products help secure the software-defined data center (SDDC)? (Choose three.) 

A. VMware NSX 

B. VMware vSphere Replication 

C. VMware Deep Security 

D. VMware SecDevOps 

E. VMware Carbon Black 

F. VMware AppDefense 

Correct Answer: ACE 

 

 

QUESTION 3

Which security services are natively provided by NSX-T Data Center? 

A. Network introspection 

B. Endpoint protection 

C. Distributed IDS 

D. Anti-virus protection 

Correct Answer: B 
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QUESTION 4

Which component is required to use VMware Distributed vSwitches (vDS)? 

A. VMware NSX-T 

B. VMware SD-WAN 

C. VMware Identity Manager 

D. VMware vCenter Server 

Correct Answer: A 

Reference: https://www.altaro.com/vmware/vsphere-distributed-switch-guide/ 

 

QUESTION 5

Which three components are virtualized in a software-defined data center (SDDC) solution? (Choose three.) 

A. Compute 

B. Operations 

C. Storage 

D. Capacity 

E. Scale 

F. Network 

Correct Answer: ACF 

 

1V0-41.20 VCE Dumps 1V0-41.20 Study Guide 1V0-41.20 Braindumps

Powered by TCPDF (www.tcpdf.org)

1V0-41.20 VCE Dumps | 1V0-41.20 Study Guide | 1V0-41.20 Braindumps                                3 / 3

https://www.passapply.com/1v0-41-20.html
https://www.passapply.com/1v0-41-20.html
https://www.passapply.com/1v0-41-20.html
http://www.tcpdf.org
https://www.passapply.com/1v0-41-20.html
https://www.passapply.com/1v0-41-20.html
https://www.passapply.com/1v0-41-20.html

